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Question Number : 1 Question Id : 36496352669 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): A child's development progress can be accurately measured by comparing her rate

of development with the other children of some age.

Reason (R): Pattern and the rate of development of children is uniform and remains some for all

children across cultures.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false

4. Both (A) and (R) are false

Question Number : 1 Question Id : 36496352669 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TP ()¢ % e 51 T 9 T 9 31 9 3 Sl 3 (T 61 3% ) T 0 2§ 10 e

T (R) : T 1 0 2 Tt el 5 T, O T 1 0 T T 0 3 AT e
W e o



Options :
(A) S (R) TFT HET § S (R) FET S AT 2 (A) Fl

1

(A) 3R (R) 31 wE E, AR (R) W s T 2 (A)

2

(A) TE R, SR (R) T 2

3

N (A) # (R) 24T T 2

Question Number : 2 Question Id : 36496352670 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child learns to hop and jump before learning to play football. Which principal of development

does this illustrate?
Options :

1. Cephalocaudal
2. Pronimodistal

3. Reversibility

4. Equilibration

Question Number : 2 Question Id : 36496352670 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 36496352671 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about development is NOT correct?
Options:

1. Development is a product of heredity and environment.

2. Development is somewhat predictable.

3. Rate of development is uniform and universal.

4. Development proceeds from general to specific.

Question Number : 3 Question Id : 36496352671 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 36496352672 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Children pick up ways of behaving appropriately as per their culture from their

friends media and various other source.

Reason (R) : socialization is a complex process that takes place through various formal and

informal means.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 4 Question Id : 36496352672 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 36496352673 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For children who are in concrete operational stage teachers should -

Options :

1. Gove a lot of practice to deal with abstract concepts

2. Provide opportunities to classify objects and ideas on increasingly complex levels
3. Present problems that require higher order abstract thinking

4. Give problems that require logical and scientific thinking

Question Number : 5 Question Id : 36496352673 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 36496352674 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget, at which stage of cognitive development does the child understand that

symbols can be used to represent objects - 'bicycle’ will generate an image even when absent?
Options :

1. Pre-conventional stage

2. Pre-operational Stage

3. Concrete operational Stage

4. Formal operational Stage

Question Number : 6 Question Id : 36496352674 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 36496352675 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Aanav struggles with addition of three digit numbers on his own but is able to do so with support



from the teacher. In Lev Vygotsky's theory, this highlights -
Options:

1. Zone of proximal development

2. Reinforcement

3. Maturation

4. Symbolism

Question Number : 7 Question Id : 36496352675 Question Type

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes Is
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Question Number : 8 Question Id : 36496352676 Question Type

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Lev Vygotsky learning is -
Options :

1. An active process of constructing knowledge
2. A passive process of reception of knowledge

3. A function of drill and practice

: MCQ Option Shuffling : Yes Is



4. A function of stimulus-response associations

Question Number : 8 Question Id : 36496352676 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 36496352677 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Aashna does good because she would like to be seen as good by other people . At which stage of

moral development is she according to Lawrence Kohlberg?
Options :

1. Pre-conventional

2. Conventional

3. Post-conventional

4. Formal Operational

Question Number : 9 Question Id : 36496352677 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 36496352678 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In progressive education -

Options :

1. learning has a social character.

2. textbooks are the only source of knowledge.
3. seating arrangement is totally fixed.

4. curriculum is standardized.

Question Number : 10 Question Id : 36496352678 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 36496352679 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 emphasises on -

Options :

1. flexible multi-level activity based learning.

2. only the aspects related to cognitive development of children.
3. standardization of a national curriculum.

4. measurement of memorization abilities of children.

Question Number : 11 Question Id : 36496352679 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 36496352680 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following description fits the 'Inter-personal intelligence' proposed by Howard

Gardner?

Options :

1. Sensitivity to spoken and written language

2. Sensitivity to rhythm and sounds

3. Capacity to understand the intentions and desires of others

4. Capacity to understand on self

Question Number : 12 Question Id : 36496352680 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 36496352681 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
plays an important role in Vygotskian constructivism.
Options :
1. Language
2. Maturation
3. Development of schemas

4. Rewards and Punishment

Question Number : 13 Question Id : 36496352681 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Y ™ ™ = B A [ [
STcdh! ok F=HTd1E H T5hdsh] ClEED ET )

Options:
1. WTET

5. UNEReaAT

o .
3. TR T IR

. FEFES

Question Number : 14 Question Id : 36496352682 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following tools should a teacher use to assess children's learning?

(i) Classroom interaction



(ii) Projects
(iii) Portfolios

(iv) self-assessment
Options :

1. (ii) and (iii)

2. (ii),(iii) and (iv)

3. (i), (ii), (iii) and (iv)
4. (i), (ii) and (iii)

Question Number : 14 Question Id : 36496352682 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 36496352683 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The purpose of assessment as per the National Education Policy 2020 is to provide information on

Options :

1. how to support the students in and out of the classroom.

2. comparison of the students performance with her classmates.

3. the gaps and deficiencies in student learning to accurately identify her failure.

4. memorization capacities of the student.

Question Number : 15 Question Id : 36496352683 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 36496352684 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following practice is a barrier to inclusion?
Options :

1. Classroom discipline is based on mutual respect for each other.



2. Content is designed to meet needs of few students only.
3. Pedagogy encourages participation of all students.

4. Students are supported to meet individual goals of learning.

Question Number : 16 Question Id : 36496352684 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 36496352685 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following creates barrier to inclusion of students from marginalized groups?

Options :

1. Access to Educational spaces
2. Equity in rights

3. Opportunity to participate

4. Social Stigma

Question Number : 17 Question Id : 36496352685 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 36496352686 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following learning disability directly affects the ability to write coherently?
Options :

1. Dyscalculia

2. Dysgraphia

3. Dyslexia

4. Dyspraxia

Question Number : 18 Question Id : 36496352686 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 36496352687 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following practice will hinder the successful inclusion of 'auditory learners'?
Options:

1. Allow students to think aloud to themselves.

2. Give students written rather than oral tests.

3. Place assignment directions on tape to use later.

4. Provide verbal instructions for assignments.

Question Number : 19 Question Id : 36496352687 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 36496352688 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a characteristic of a student with giftedness?
Options :

1. Slow comprehension

2. Lack of curiosity

3. Need for precision in thinking

4. Tendency of opting for easy tasks

Question Number : 20 Question Id : 36496352688 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 36496352689 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A teacher wants to facilitate comprehension skills among her students. Which of the following

should be avoided by her for this purpose?
Options :

1. Concept mapping

2. Decontextualising

3. Outlining

4. Summarizing

Question Number : 21 Question Id : 36496352689 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 36496352690 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To facilitate students' learning of a concept, a teacher should -
Options :

1. avoid making connections between new information and previous knowledge.



2. focus on understanding the rules and defining attributes of the concept.
3. mix essential and non-essential information related to content to be taught.

4. present material and information in highly abstract and complex form.

Question Number : 22 Question Id : 36496352690 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

eIt & T W o AT B R T % (o0, U TV 6 (e § T S e

Options :

r OO I . my . s W T o T
1. T8 SRR AN IS T = = g T 9 99

5 o7 = AU AT S99 S SerSaTeT =5 a7 W ST

; ToSare] ¥ ST SAEva% AR TR-SATEvIe A1l 1 = F:73)

AT 3T STHaFNT il eI 09 3T F1ed ©9 T T5ad F4)
4 = s

Question Number : 23 Question Id : 36496352691 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following factors is not responsible for students' failure in academic performance?
Options :

1. Boredom

2. Stress

3. Curiosity

4. Fear

Question Number : 23 Question Id : 36496352691 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 36496352692 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While teaching a concept, a teacher is giving an example that has the most important "core"

features of the category associated with that concept Such an example is called -
Options :

1. a misconception.

2. a non-exemplar.

3. a prototype.

4. an expectation.

Question Number : 24 Question Id : 36496352692 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 36496352693 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

By encouraging students to reflect on their cognitive abilities to reach a specified goal, a teacher is

facilitating the development of:
Options:

1. Declarative knowledge

2. Procedural knowledge

3. Meta-cognition

4. Rote-memorisation

Question Number : 25 Question Id : 36496352693 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 36496352694 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While conceptualising teaching - learning process, National curriculum framework (2005)

emphasizes upon the importance of -
Options :

1. active engagement and interactions.
2. drill and repeated practice.

3. rote-memorisation of content.

4. stimulus-response associations.

Question Number : 26 Question Id : 36496352694 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 36496352695 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To scaffold students in solving a problem, a teacher should -
Options :

1. confuse students by highlighting extraneous information.
2. directly tell the answer to students and ask them to copy it.
3. give cues that activities the relevant schemas.

4. split the information in disconnected chunks.

Question Number : 27 Question Id : 36496352695 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 36496352696 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): During teaching-learning process, a teacher should give opportunities to students

for sharing their misconceptions and alternative conceptions.



Reason ( R): Misconceptions and alternative conceptions are always baseless and are insignificant

in process of learning.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 28 Question Id : 36496352696 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 36496352697 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Learned helplessness occurs when a student believes that:
Options:

1. ability is improvable and focus is on mastery goals.

2. efforts impact ability and focus is on performance goals.
3. the outcomes of academic activities are controllable.

4. the outcomes of academic activities are uncontrollable.

Question Number : 29 Question Id : 36496352697 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 36496352698 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of intrinsic motivation?
Options :

1. Studying to avoid the punishment by parent

2. Studying due to interest in an activity



3. Studying to receive the praise of teacher

4. Studying to win a competition

Question Number : 30 Question Id : 36496352698 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 36496352699 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Raghav has only %5 and Z10 coins with him. If total number of coins he has is 30 and the amount of money with him is
2195, then the number of 25 and Z10 coins with him are:

Options :

1. 25 and 5. respectively
5 21 and 9 respectively
3. 20 and 10, respectively

4. 15 and 1S respectively

Question Number : 31 Question Id : 36496352699 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1 25375

, 2139

3 20 #X 10

4 15315



Question Number : 32 Question Id : 36496352700 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Naresh is a visually challenged student of his class. He identifies and count edges, corners and faces of various three
dimensional (3D) shapes by touching them. How many edges, corners and faces will he identify in a triangular prism?

Options:
1 Edges = 6. Corners = 8, Faces= 6

2 Edges =9, Corners = 6, Faces= 3
3 Edges =4, Corners = 4, Faces=4

4. Edges = 6, Corners = 4, Faces= 5

Question Number : 32 Question Id : 36496352700 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 36496352701 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the area of a rectangle whose length is 122cm and breadth 55cm?

Options :
1. 354 5q. cm
2. 6710 s5q. cm

3. 6715 s5q. cm

4. 6810 5q. cm

Question Number : 33 Question Id : 36496352701 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
I I F1 % 47 2, Torehl 918 122 cm 3R =R 55 cm 22

Options :

1. 3543 cm
5 67103 cm
3 67153 em

4. 6810 T cm



Question Number : 34 Question Id : 36496352702 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rehnuma makes different polygons using matchsticks and measure their interior angles with the help of a protractor.
She makes a triangle with three matchsticks and adds one more to make a quadrilateral. Then she adds one more
matchstick fo make a pentagon and so on. Which of the following statements s correct about the angles of these shapes?

Options :

1. The sum of all the interior angles of any polygon is 360°.
5 The sum of all the interior angles of a quadrilateral is three times of the sum of all the interior angles of triangle.
3. When the numbers of side increases, the sum of the measures of interior angles of a polygon also increases.

4. When the numbers of sides increases sum of the measures of interior angles of a polygon also decreases.

Question Number : 34 Question Id : 36496352702 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 36496352703 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

[ am greater than half of 100. I am more than 5 tens and less than 6 tens. My ones digit is three less then tens’ digit. Who
am1?

Options :
1

N

1.

N
N
-2

w
Ln
[#a]

»
L]
o

Question Number : 35 Question Id : 36496352703 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 36496352704 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What distance will Sadiq travel if he takes five rounds of a rectangular park whose length and breadth are 60 metres and
40 metres, respectively?

Options:
1. 200 m
2. 1 km

3. 2km 400 m

4. 2km200m

Question Number : 36 Question Id : 36496352704 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 200 m.

> 1 km.

3. 2 km. 400 m.

4. 2 km. 200 m.



Question Number : 37 Question Id : 36496352705 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rani’s school is at a distance of 6km 375m from her house. She travels 1km 95m on foot and the rest by bus. How much
distance does she travel by bus?

Options :
1. Skm 625m
2. Skm 280m

3. 4km 625m

4. 4km 425m

Question Number : 37 Question Id : 36496352705 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. 5 km. 625 m.
2 5 km. 280 m.
3. 4 km. 625 m.

4. 4km. 425 m.

Question Number : 38 Question Id : 36496352706 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If the side of a square is halved, the perimeter of the square so obtained will be  and the areawillbe
Options :
1. halved, halved

2. halved. one-fourth
3. one-fourth, halved

4. one-fourth, one-fourth

Question Number : 38 Question Id : 36496352706 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 36496352707 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



" 1 ; " : :
A truck travels 120km in 2 - hours. How much time is required to cover 80km with same speed?
2

Options :

1. 1 hour 20 minutes
2. 1 hour 30 minutes
3. 1 hour 40 minutes

4. 1 hour 50 minutes

Question Number : 39 Question Id : 36496352707 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

1 172120 e
5 172130 e

3. 1 52140 o2

4. 1 72T 50 e

Question Number : 40 Question Id : 36496352708 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

One fifth of the flowers in a bouquet are roses. Half of the flowers are lily and the remaining are orchid. If the numbers
of roses is eight; how many orchids are there in the bouquet?



Options :
1. 10

Question Number : 40 Question Id : 36496352708 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1. 10

Question Number : 41 Question Id : 36496352709 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Observe the above pattern and identify the next term:-
2,37, 16,3257,

Options :
1. 76

Question Number : 41 Question Id : 36496352709 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
3
3 =2+1
7 =3+2
=
16 =7+3
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2::5:0 16: 32, 00

Options :
7. 76

2. 85



Question Number : 42 Question Id : 36496352710 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Bhanu is a junk seller (Kabadiwala) who collect junk as per the rate List given below:

Junk Price of 1kg
Waste Paper 212
Newspaper 4
Iron 327350
Brass 3225
Plastic 338

How much money will he pay if he collects 5 kg of iron, 10kg of plastic, 50kg of waste paper, 22kg of newspaper, and
2kg of brass?

Options :
1. 1645.00

2. ¥ 1825.00

4. % 1875.50

Question Number : 42 Question Id : 36496352710 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 21645.00

5 ¥1825.00
3. 2345.00

4. X1875.50

Question Number : 43 Question Id : 36496352711 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following group of number has least prime numbers?
Options :
1. From 20 to 40

2. From 30 to 50

3. From 40 to 60



4. From 60 to 80

Question Number : 43 Question Id : 36496352711 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1 20940 TF
5, 30|50 TF
3 40 F 60 TF

4 60T 80T

Question Number : 44 Question Id : 36496352712 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

9.2x4.9%3.1

Which one of the following is the best approximation of = DeRTas

Options :
OX4xX3
1. G2

G b 3
I .

S b 3
3. B3



9x4x3
4 Hx3

Question Number : 44 Question Id : 36496352712 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
9X4X3
1. X2

9X5X3
-

9X5X3
3. bB¥X3

9X4X3
4 HX3

Question Number : 45 Question Id : 36496352713 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Match the following:

(A) (B)

Digit at tens place is half of the 652842
digit at thousands place.
Digit at ones place is two third of 858335
the digit at the lakhs place.
Digit at hundreds place is double 658324
of the digit at tens place.
Digit at thousands place is the 852312
sum of the digit at ones and tens
place.

Options :

1 (1) - (d). (11) - (¢). (1i1) - (a). (iv) - (b)

3 (1) - (b), (i1) - (c). (1ii) - (a), (Iv) - (d)

3 (1) - (d), (i) - (@), (iii) - (¢), (iv) - (b)

4. (1) - (c), (11) - (b), (1i1) - (d), (iv) - (a)

Question Number : 45 Question Id : 36496352713 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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iii. TS T e TS o LTS ¢) 658324

lv. ESRE AHTHEE ARTEEF AR FATE  d) 852312
Options :
1 (D-(d), (iD)-(c), (iii)-(a), (iv)-(b)

5. (D)-(b), (ii)-(c), (iii)-(a), (iv)-(d)



5. (D-(d), (ii)-(a), (iii)-(e), (iv)-(b)

Question Number : 46 Question Id : 36496352714 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following activities is best suited for the development of spatial understanding among primary grade
learners?

Options:

1. Representing numbers on a number line
o Drawing a map of their homes showing relative sizes and positions of rooms
3 Measuring the distance between two cities on a map

4 Recalling the names of geometrical figures

Question Number : 46 Question Id : 36496352714 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 36496352715 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

As per NCERT, which of the following is NOT one of the expected learning outcomes from grade I1I learners?

Options :

1. What is the place value of 4 in 5437

o Identify the next shape in a given pattern of shapes.

+

= | =

Solve

w | =

4. Show that 2 x 5 is the same as 5 x 2.

Question Number : 47 Question Id : 36496352715 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 36496352716 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A mathematics teacher asks her students "You have 7 hundreds and you have to take away 7 tens from it. Which number
do you get?" One of the students says "T will get 0". Which of the following statements is most appropriate with respect
fo the answer given by the student?

Options :

1. The teacher should have written the problem in the form of numerals for students to solve it.
5 The teacher should give at least ten similar problems to solve till the students solve it correctly.

The teacher should ask the students to explain the process of arriving at the answer and plan remedial strategy
3, accordingly.

4. The teacher should solve the problem on black board using the correct algorithm

Question Number : 48 Question Id : 36496352716 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TV 21 T2 e A T T 2, “Oeh T 7 0k & 4 Ve 3 7 SR e €] AT

3.7 e e T g e uﬁoﬁﬁm T § 8 -8 2 37 310 20 T 30 & e o
o I )

Options :
| TariershT =it e i ST B H e =10, o, F1is 91 36 7 9 W




Torfir o .- 6 T T YT o AT 28 o 3 T 2 R, 9 7 O W W SR AR A
o, M

e T T a1 S 9 T 0 TG 2 AT 3 1 e 1, S 3565 ST SOt (7 1
5 TR I

. TOTTeTeRT <A1 T - Talrel 3T JUTT STt 20 VAU O W 1 8 ] A

Question Number : 49 Question Id : 36496352717 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to National Curriculum Framewaork 2003, one of the main goals of mathematics education in schools is, "It is
more useful to know how to mathematize than to know a lot of mathematics". Which of the following reflects the
meaning of above statement

Options :

It is more important to know how to develop mathematical thinking and ability to handle abstractions in children than to
1. focus on how much mathematics a child knows

Mathematics education should focus on including only those topics in mathematics curriculum which are useful in daily
2. life.

3. Mathematics s useful in daily life hence solving problems in mathematics will mathematize the child's mind

It is important to know how to solve various problems in mathematics hence focus should be on including maximum
4. topics in mathematics curticulum

Question Number : 49 Question Id : 36496352717 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 36496352718 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

M. Govind wants to build 'pattern recognition' skill in his Grade 3 students. Which of the following activities can BEST
help?

Options :

1. Asking students to make their family tree and compare it to that of their friend’s family tree.
5 Asking students to observe the night sky and describe what they saw, in class the next day.
3, Asking students to find the national emblem of India in all their textbooks.

4. Giving building blocks and asking students to arrange them in stacks of increasing height.



Question Number : 50 Question Id : 36496352718 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 36496352719 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to National Curriculum Framework 2005, assessment in mathematics should include
Options:

1. Ranking the students with respect to their scores

5 Progress of the students in terms of conceptual understanding and acquisition of problem solving skills

3. Testing the knowledge of procedures and formulae

4 Testing the ability of students to do error free calculations

Question Number : 51 Question Id : 36496352719 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T quﬁ @ 2005 F EREIN TIfore 5, SR o 1 WIEATeA T 00|

Options :

| AT AT 7k TTHIEhT 3 AT OF 2UTag e

5 DT T HFCIATCTSR T S HET-HATE % 1T i ST Sa 1 S
; FTATETEAT SR T % T 6 T

. mﬁgﬁ%ﬂ?vﬁwqwﬁrmaﬁrw

Question Number : 52 Question Id : 36496352720 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Priya taught the concept of division. Which of the following is the best example of an 'authentic task' to assess
students on this?

Options :

1. What will you get when you divide 65 by 13?7
> What does division of one number by another mean? Explain using examples.
3. Distribute 100 available drawing sheets among 25 students of your class equally.

4. Make a flag for your class where one-third of the flag is blue

Question Number : 52 Question Id : 36496352720 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 36496352721 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In middle and high school it is observed that boys perform better than girls in mathematics. Critical analysis of this
situation points out that the reason for this is that;

Options:

1. Girls have poor logico-mathematical skills

- Mathematics is not for girls

3. Girls are socialised to believe that mathematics is considered to be a ‘masculine domain' and hence it is difficult

4 Boys are naturally inclined to like numbers and mathematics

Question Number : 53 Question Id : 36496352721 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 36496352722 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following preparatory activities is most suitable, before teaching the concept of multiplication?
Options :

1. Introduce the symbol of multiplication first

o Asking students to find the mumber of balloons their class will have if each of them brings 5 balloons.

3 Asking students to count the number of students in their school.

4 Asking students to solve, "If you get 210 as pocket money each day, in how many days will you get 21007"

Question Number : 54 Question Id : 36496352722 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 36496352723 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to National Curriculum Framework 2005, Which of the following represents one of the most desirable
feature of a mathematics text book at primary level?

Options :
1. Concepts must be presented from abstract to concrete
o The cover page of the text book should be attractive and colourful

3. It should include mathematical problems based on formulae and algorithms

4. 1t should present the mathematical problems that are contextual and related to life experiences of children.

Question Number : 55 Question Id : 36496352723 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 36496352724 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of geometrical thinking levels as per Van Hieles' 'theory of geometrical development
Options :

1. Visualisation--Analysis--Deduction--Relationships

> Relationships--Deduction--Analysis-Visualisation

3. Visualisation--Analysis--Relationships-Deduction

4. Analysis--Relationships--Deduction--Visualisation

Question Number : 56 Question Id : 36496352724 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 36496352725 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher asked the class to subtract 3 from 75. 70% of the class said: 25. Their work was shown as:

75
=5

2 9

Which of the following describes the most appropriate remedial action that the teacher should take to clarify this
misconception?

Options :
1. Revise the concept of place value and asking students to explain the process they have used to solve the problem
5 Revise the rule of subtraction of 1-digit umbers from 2-digit numbers that digits should be written from right to left.

3. Give more practice on simpler problems like subtracting 1-digit numbers.

4 Use a number line to explain how subtraction is done

Question Number : 57 Question Id : 36496352725 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 36496352726 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Majority of students in a class says. 270 + 34 is equal to 270
+34

2104

Revisiting which of the following concepts will BEST remediate the misconception?

Options :
1. Addition with regrouping



5 3-digit addition
3 Forward counting

4. Place value of three digit numbers

Question Number : 58 Question Id : 36496352726 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 36496352727 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Aclass V primary school teacher gives the following task to his students: "From your neighbourhood collect the number
of students studying in class IIT and V. From the information collected, classify number of boys and girls studying in
class Il and V. Include at least ten households in your project”. The above activity can be best use:

Options :



To make students sensitive towards gender differences
To introduce the concept of data handling
To develop values of community service in school students

To assess teacher's creativity for the purpose of his promotion

Question Number : 59 Question Id : 36496352727 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 36496352728 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following can be BEST taught using a simulation software?



Options :

1 Finding place value and face value of various numbers
5 Measuring the lengths of rectangles with various dimensions
3. Comparing the weights of different objects

4. Showing how the tenth shape in a series will change when the third shape changes.

Question Number : 60 Question Id : 36496352728 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Number of Questions : 30

Number of Questions to be attempted : 30

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 3649633046
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 36496352729 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most liked food of the people of which of the following two states of our country is “Idli, Vada,

Dosa, Sambhar, Coconut chutney”?
Options:

1. Telangana, Gujarat

2. Odisha, Andhra Pradesh

3. Tamil Nadu, Andhra Pradesh

4. Goa, Kerala

Question Number : 61 Question Id : 36496352729 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 36496352730 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If a person travels by shortest route from Mumbai (Maharashtra) to Chandigarh (A union territory

of India) by train, the state which the train is not likely to come is
Options :

1. Haryana

2. Punjab

3. Rajasthan

4. Gujarat

Question Number : 62 Question Id : 36496352730 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 36496352731 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statement given by a girl in a group of students who gathered in a camp:

“T have come from a city which is a hilly area. At our place it rains heavily and snows as well. When

it is very cold we like to sit in sun. Our houses are made of stone or wood.”

This city must be a part of
Options :

1.Jammu and Kashmir

2. Ladakh

3. Utter Pradesh

4. Himachal Pradesh

Question Number : 63 Question Id : 36496352731 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 36496352732 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The distance between New Delhi railway station and Kanpur railway station is 432 km. A train
starting on 18.12.2021 at 23.45 Hrs from New Delhi railway station reaches New Delhi railway

station on 19.12.2021 at 07.45 Hrs. The average speed of the train during journey is
Options :
1.10 m/s
2.15m/s
3.27 m/s

4,54 m/s

Question Number : 64 Question Id : 36496352732 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 10 m/s
2 15 m/s

3. 27 m/s

4. 3 m/s



Question Number : 65 Question Id : 36496352733 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select from the following a group of two animals where front teeth keep growing throughout their

life, so they have to keep gnauring on things to keep their teeth from becoming too long.
Options :

1. Lizard and squirrel

2. Lizard and turtle

3. Rat and squirrel

4. Snake and squirrel

Question Number : 65 Question Id : 36496352733 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 36496352734 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Kannauj is a district which is famous throughout India for its itra. This district is a part of



Options :

1. Haryana

2. Uttrakhand
3. Bihar

4. Uttar Pradesh

Question Number : 66 Question Id : 36496352734 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 36496352735 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Sand dunes are found in

Options :

1. Afghanistan, England

2. Uzbekistan, Bangladesh

3. Berlin, Rajasthan

4. Abu Dhabi, Afghanistan



Question Number : 67 Question Id : 36496352735 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 36496352736 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bhopal is due north of Bangalore and Gandhi Nagar is due west of Bhopal. The direction of

Bangalore with respect to Gandhi Nagar is
Options :

1. North-West

2. South-West

3. South-East

4. North-East

Question Number : 68 Question Id : 36496352736 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 36496352737 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select correct statement from the following about Bronze.
Options:

1. Itis an alloy of tin and zinc.

2.1t is a compound.

3.Itis an alloy of Copper and tin.

4. It is a homogenous mixture of Copper and zinc.

Question Number : 69 Question Id : 36496352737 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 36496352738 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select from the following a match which does not provide the correct way of preservation of the

corresponding food item.
Options :

1. Apple - Jam

2. Milk - Paneer

3. Raw Mango - Pickle

4. Dal - Papad

Question Number : 70 Question Id : 36496352738 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 36496352739 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which part of our country the big cone shaped tents used for living are known as ‘Rebo’ and the

place in which animals are kept are called ‘Lekha”?
Options :

1. Arunachal Pradesh

2. Meghalaya

3. Jammu and Kashmir

4. Leh and Ladakh

Question Number : 71 Question Id : 36496352739 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 36496352740 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In our country there are
Options:

1. 6 union territories
2.7 union territories

3. 8 union territories

4.9 union territories

Question Number : 72 Question Id : 36496352740 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. 0

Question Number : 73 Question Id : 36496352741 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select from the following a group of three states all having their coasts on the Arabian Sea.
Options :

1. Kerala, Karnataka, Maharshtra

2. Gujarat, Maharshtra, Tamil Nadu

3. Andhra Pradesh, Gujarat, Telangana

4. Kerala, Karnataka, Odisha



Question Number : 73 Question Id : 36496352741 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

W%WWWWEWEﬁﬁu %H%H‘!ﬁtfcﬁi%ﬂ@ﬁdd%ﬂlﬂﬂ?ﬁ%%-

Options:

hTeT, hldeh, HEllIeE

, TSIE, FETT, AHTE

SATET TS, TRId, eI

= r =
A, FTaah, AT

Question Number : 74 Question Id : 36496352742 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“Chhau” is the folk dance form of the common people of
Options :

1. Uttar Pradesh

2. Assam

3. Chhattisgarh

4. Mizoram

Question Number : 74 Question Id : 36496352742 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 36496352743 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements about the earthworms:

A. Earthworm make tunnels in the fields which provide easy passage to air and water into the soil.
B. Earthworms soften the soil by digging underneath.

C. Earthworms save the main crops from weeds.

D. The droppings of the earthworms fertilise the soil.

The true statements are
Options :

1.Aand B

2.A,Band C

3.A,Cand D

4. A,Band D

Question Number : 75 Question Id : 36496352743 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 36496352744 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The advantages of teaching EVS in blended/hybrid learning mode are
A. Students can join online class from anywhere.

B. Students get to interact with teacher and peers face to face.

C. Students are not required to be attentive during the classes.

D. Students are able to supplement their online learning with related activities at

home/community.



Choose the correct option.
Options:

1.A,Band C

2.A,Cand D

3.A,BandD

4.A,B,CandD

Question Number : 76 Question Id : 36496352744 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 36496352745 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a feature of synchronous online teaching of EVS through video



conferencing apps?

Options:

1. Students are able to join the class any time.

2. Teachers and students are able to converse in real time.
3. Students get the content of online class anytime they join.

4. Teacher is able to share content any time of the day which student can access any time.

Question Number : 77 Question Id : 36496352745 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 36496352746 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Swati, an EVS teacher of class IV shows a video of a wide variety of plants such as grass, bamboo,
rose, banana, palm tree and discusses about sizes of the plants with leaves, stem and flowers in all
the plants with her students. Most appropriate objective in this activity is to draw attention of

students to

Options :



1. parts of plants.
2. differentiate between ‘plants’ and ‘trees’.
3. observe variation present within the category of plants.

4. the importance of plants to human beings.

Question Number : 78 Question Id : 36496352746 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 36496352747 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While teaching theme ‘Food’, Rita, an EVS teacher, asks her class V students to conduct survey
about different ways in which food preservation methods are followed in different neighbouring

households. The most appropriate objectives of this survey will be

A. to make students sensitive towards different people.



B. to assess students' competence in conducting survey.
C. to provide an opportunity to collect first hand information from community.
D. to provide an opportunity to interact with community.

Choose the correct option.
Options:

1.A,Band C

2.A,Cand D

3.AandB

4. Aand C

Question Number : 79 Question Id : 36496352747 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 36496352748 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of these are objectives of teaching EVS at primary stage according to the present

curriculum?

A. To train students to locate and comprehend relationships between the natural social and

cultural environments.

B. To develop an awareness about environmental issues in students.

C. To develop an understanding of the earth as the habitat for humankind and other forms of life.

D. To understand the various pedagogy of EVS.

Choose the correct option.
Options :

1. Aonly

2.Aand B

3.A,Cand D

4.B,Cand D

Question Number : 80 Question Id : 36496352748 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 36496352749 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An EVS teacher should keep in mind the following criteria to make groups for conducting an
activity -

Options :

1. Make grouping according to their cognitive level

2. Make grouping according to gender (separate group for girls and boys)

3. Make as many groups as possible from the whole class

4. Make groups based on cooperation and participation among groups

Question Number : 81 Question Id : 36496352749 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 36496352750 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The nature of EVS curriculum at the primary level is

Options :

1. inclusive, contextual, thematic

2. integrated and experiential

3. contextual, disciplinary, follows an environmental approach

4. single subject, global to local, inclusive

Question Number : 82 Question Id : 36496352750 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 36496352751 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While choosing stories to introduce EVS concepts, a teacher needs to keep the following points in

mind.
A. Stories should not create any misconception about any concept.

B. Stories should not portray any stereotype related to gender, caste, religion and other social

groups.
C. Stories should be enjoyable and entertaining.
D. Stories should be such that students can relate to them.

Choose the correct option.
Options:

1.A,B,C

2.B,C,D

3.A,Band D

4.A,Cand D

Question Number : 83 Question Id : 36496352751 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 36496352752 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An EVS teacher will ask her students to do which of the following activities to inculcate mapping

skills in them?

A. Locating cardinal directions on a map
B. Drawing unscaled maps

C. Using symbols for self-drawn maps

D. Using standardized universal symbols to interpret a map



Choose the correct option.
Options :

1.Aand D

2.Band C

3. D only

4.A,B,CandD

Question Number : 84 Question Id : 36496352752 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 36496352753 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



An EVS teacher points out during a discussion that people of Rajasthan villages built their homes
from locally available materials while people in cities like Mumbai buy materials like cement,
bricks, glass and tiles to build houses. The learning outcome (s) for assessment of this discussion
is/are

Options :

1. Observation and recording

2. Analysis

3. Experimentation

4. Comparing and Analysis

Question Number : 85 Question Id : 36496352753 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 36496352754 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An EVS teacher wants her students to find out the various everyday activities of people that



contribute to the wastage of water. Which of the following is the most appropriate srategy for this
purpose?

Options :

1. Documentary and films related to water issues

2. Visit to a “nallah (water drain)

3. Interaction with families in the neighbourhood

4, Estimation of the quantity of water used by a family per day

Question Number : 86 Question Id : 36496352754 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 36496352755 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an integral component of environmental education at the primary level?
Options :

1. Textbooks



2. Children's environment
3. Linguistic proficiency

4. Role play

Question Number : 87 Question Id : 36496352755 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 36496352756 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As an EVS teacher, which criteria will you consider to be most important in selecting a textbook for

students of primary classes?
A. The textbook should not have any stereotypes related to gender, caste, class and religion.
B. The language in the textbook should be a standard language.

C. The textbook should be cheaply priced and thin.



D. The textbook should be illustrated and visually appealing.

Choose the correct option.
Options :
1.Aand D
2.Band C
3.Aand C

4.Band D

Question Number : 88 Question Id : 36496352756 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 36496352757 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following resources will be most appropriate to teach gender stereotypes to students

of class V?

Options :

1. Survey in households to find out wok allocation among members
2. Newspapers with stories on gender empowerment

3. Stories about successful women

4. Field trips to hospitals to find out number of female health professionals

Question Number : 89 Question Id : 36496352757 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T T 3 T 1 T () TG @ 6 T, 14 3 & 5191 T Wl 99 2

Options :

: TESIT o &= T AT R T ST oF To7T =1 3T Taraqur
5, FTEER T FRTRaRaoT W FeTat

5. TR HieeATeTt i et

, TITETT T YRt sl AT 1 UAT S 3 o SFaet w6 5

Question Number : 90 Question Id : 36496352758 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As an EVS teacher, you have to give details of your students' level and proficiency in process skills

in his report card. Which reporting method will be most appropriate?
Options :
1. Narrative report

2. Grades in letters



3. Rating scales

4. Grading in numbers

Question Number : 90 Question Id : 36496352758 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Language I
SectionId: 3649631679
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Sub-Section Number : 1



Sub-Section Id : 3649633047

Question Shuffling Allowed : Yes

Question Id : 36496352759 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension

Read the passage given below and answer the questions/comp lete
the statements that follow by choosing the best options from the
given ones.

1) The Public distribution system, which provides food at low
prices, is a subject of vital concern. There is a growing
realization that though India has enough food to feed its
masses two square meals a day, the monster of starvation
and food insecurity continues to haunt the poor in our
country.

2) Increasing the purchasing power of the poor through
providing productive employment leads to rise in income,
and thus good standard of living is the ultimate objective of
public policy. However, till then, there is a need to provide
assured supply of food through a restructured, more
efficient and decentralized Public Distribution System
(PDS)

3) Although the PDS is extensive- it is one of the largest
systems in the world-it has yet to reach the rural poor and
the far-off places. It remains an urban phenomenon., with
the majority of the rural poor still out of its reach due to
lack of economic and physical access. The poorest in the
cities and the migrants are left out, for they generally do not
possess ration cards. The allocation of PDS supplies in big
cities is larger than in rural areas.

4) In view of such deficiences in the system, the PDS urgently
needs to be streamlined. Also considering the large stock of
food grains combined with food subsidy on one hand and
the continuing slow starvation and dismal poverty of the
rural population on the other, there is a strong case for
making PDS target-group oriented.

Sub questions

Question Number : 91 Question Id : 36496352760 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Read the following statements:
a) India is a poor country and lacks resources to feed
every citizen.
b) Food insecurity is one of the main concerns for the
poor in the country.

1. (a) is true and (b) is false.
2. (a) is false and (b) is true.
3. Both(a) and (b) are true.
Both (a) and (b) are false.

e

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 36496352761 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What should now be the objective of public policy on PDS?
1. to improve the food production.

to provide better fertilisers to the poor.

to reduce administrative cost.

to let the rural poor enjoy the food subsidy.

w1

=

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 36496352762 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Read the following statements.
a) The public distribution system is a system which is
very popular in India only.
b) It enables the government to provide food to the
people in remote areas of the country successtully.
c) People have to procure ration card to avail of this
facility.

. (a) is true and (b) and (c) are false.
(a) and (b) are true (c) is false.

. (a) and (b) are false and (c) is true.
. (a) and (c) are true and (b) is false.

b bd =

B

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 36496352763 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What would be the purpose of making PDS target-group
oriented?

1) To remove the inequality between the rich and poor.
2) To provide food to poor rural population.

3) To improve the purchasing power of the people.

4) To improve the standard of living of the people.

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 36496352764 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements:
a) There is less production of food grains in India.
b) The poor do not have enough purchasing power.
c) Cities get more food supplies than rural areas.

1) (a) is right but (b) and (c) are wrong.
2) (b) is right but (a) and (c) are wrong.
3) (c) is right but (a) and (b) are wrong.
4) (a) is wrong but (b) and (c) are right.

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 36496352765 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘In growing realization’ in para 1, growing is used as a/an

1) Verb

2) Adverb
3) Adjective
4) Noun

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 36496352766 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In ‘purchasing power’ (para-2), the underlined word means
the same as

1) authority
2) capacity
3) energy

4) will power

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 36496352767 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The word *system’ in ‘public distribution system” stands for

1) procedure

2) outlook

3) thought process
4) routine

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 36496352768 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Streamlined’ in para 4 is used as a/an

1) noun

2) verb

3) adverb
4) adjective



Options :
1.1
2.2
3.3

4.4

Question Id : 36496352759 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)
Question Label : Comprehension

Read the passage given below and answer the questions/comp lete
the statements that follow by choosing the best options from the
given ones.

1) The Public distribution system, which provides food at low
prices, is a subject of vital concern. There is a growing
realization that though India has enough food to feed its
masses two square meals a day, the monster of starvation
and food insecurity continues to haunt the poor in our
country.

2) Increasing the purchasing power of the poor through
providing productive employment leads to rise in income,
and thus good standard of living is the ultimate objective of
public policy. However, till then, there is a need to provide
assured supply of food through a restructured, more
efficient and decentralized Public Distribution System
(PDS)

3) Although the PDS is extensive- it is one of the largest
systems in the world-it has yet to reach the rural poor and
the far-off places. It remains an urban phenomenon., with
the majority of the rural poor still out of its reach due to
lack of economic and physical access. The poorest in the
cities and the migrants are left out, for they generally do not
possess ration cards. The allocation of PDS supplies in big
cities is larger than in rural areas.

4) In view of such deficiences in the system, the PDS urgently
needs to be streamlined. Also considering the large stock of
food grains combined with food subsidy on one hand and
the continuing slow starvation and dismal poverty of the
rural population on the other, there is a strong case for
making PDS target-group oriented.

Sub questions



Question Number : 91 Question Id : 36496352760 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:
a) India is a poor country and lacks resources to feed
every citizen.
b) Food insecurity is one of the main concerns for the
poor in the country.

1. (a) is true and (b) is false.
2. (a) is false and (b) is true.
3. Both(a) and (b) are true.
Both (a) and (b) are false.

s

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 36496352761 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What should now be the objective of public policy on PDS?
1. to improve the food production.
2. to provide better fertilisers to the poor.
3. to reduce administrative cost.

to let the rural poor enjoy the food subsidy.

.

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 36496352762 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Read the following statements.
a) The public distribution system is a system which is
very popular in India only.
b) It enables the government to provide food to the
people in remote areas of the country successtully.
c) People have to procure ration card to avail of this
facility.

. (a) is true and (b) and (c) are false.
(a) and (b) are true (c) is false.

. (a) and (b) are false and (c) is true.
. (a) and (c) are true and (b) is false.

b bd =

B

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 36496352763 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What would be the purpose of making PDS target-group
oriented?

1) To remove the inequality between the rich and poor.
2) To provide food to poor rural population.

3) To improve the purchasing power of the people.

4) To improve the standard of living of the people.

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 36496352764 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements:
a) There is less production of food grains in India.
b) The poor do not have enough purchasing power.
c) Cities get more food supplies than rural areas.

1) (a) is right but (b) and (c) are wrong.
2) (b) is right but (a) and (c) are wrong.
3) (c) is right but (a) and (b) are wrong.
4) (a) is wrong but (b) and (c) are right.

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 36496352765 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘In growing realization’ in para 1, growing is used as a/an

1) Verb

2) Adverb
3) Adjective
4) Noun

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 36496352766 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In ‘purchasing power’ (para-2), the underlined word means
the same as

1) authority
2) capacity
3) energy

4) will power

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 36496352767 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The word *system’ in ‘public distribution system” stands for

1) procedure

2) outlook

3) thought process
4) routine

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 36496352768 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Streamlined’ in para 4 is used as a/an

1) noun

2) verb

3) adverb
4) adjective



Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 3649633048

Question Shuffling Allowed : Yes

Question Id : 36496352769 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the following stanzas and answer the questions/complete the
statements by choosing the best options from those given below

In friction land there is a family

With some confusions as you will see.

There is Raghu aged fifteen and others all grown,
‘Please will someone let me ever be on my own!’— 4

Rejection, refusal, Raghu saw red.

*Am I the prefect at school? or the baby at home?”

Crazy! What adventures! Bah teenagers! Papa saw the threat
They think they can manage everything on their own -8

‘Look at your clothes, looks like you haven’t bathed in years,
Cut your hair, you look like a scream!” Raghu was in tears.

“Why can’t I live like I wanna be?

I won’t change! My friends love it and the girls-look at me.” -12

Days passed by, things looked better, sometimes worse.

‘Papa, there is a band, that wants me to sing a verse.’

*Join a band! velled flabbergasted papa ‘you’ve surely gone mad’.
Think of a career, for things gonna be sad.  -16

Sub questions

Question Number : 100 Question Id : 36496352770 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“‘friction land’ here stands for

1) a mysterious island
2) a confused family
3) a desert

4) wonderland

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 36496352771 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘saw red’ in line 5 means

1) was angry

2) was in danger
3) was excited
4) was nervous

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 36496352772 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is not a point of clash between
Raghu and his father?

1) different lifestyle

2) different interests
3) different food habits
4) age difference

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 36496352773 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which line shows the dilemma faced by Raghu?

1) Line 2
2) Line 4
3) Line 6
4) Line 8

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 36496352774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
What is the rhyme in 1% stanza?
1) abab
2) abed

3) acbd
4) abcc



Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 36496352775 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In ‘flabbergasted papa’ flabbergasted is used as a/an

1) verb

2) adverb
3) adjective
4) noun

Options :
1.1
2.2
3.3
4.4

Question Id : 36496352769 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Read the following stanzas and answer the questions/complete the
statements by choosing the best options from those given below

In friction land there is a family

With some confusions as you will see.

There is Raghu aged fifteen and others all grown,
‘Please will someone let me ever be on my own!”— 4

Rejection, refusal, Raghu saw red.

*Am I the prefect at school? or the baby at home?”

Crazy! What adventures! Bah teenagers! Papa saw the threat
They think they can manage everything on their own -8

‘Look at your clothes, looks like you haven’t bathed in years,
Cut yvour hair, you look like a scream!’ Raghu was in tears.

“Why can’t I live like I wanna be?

I won’t change! My friends love it and the girls-look at me.” -12

Days passed by, things looked better, sometimes worse.

‘Papa, there is a band. that wants me to sing a verse.’

“Join a band! velled flabbergasted papa ‘you’ve surely gone mad’.
Think of a career. for things gonna be sad.  -16

Sub questions

Question Number : 100 Question Id : 36496352770 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“‘friction land’ here stands for

1) a mysterious island
2) a confused family
3) a desert

4) wonderland

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 36496352771 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

‘saw red’ in line 5 means

1) was angry

2) was in danger
3) was excited
4) was nervous

Options:
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 36496352772 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a point of clash between
Raghu and his father?

1) different lifestyle

2) different interests

3) different food habits
4) age difference

Options:
1.1
2.2
3.3

4.4

Question Number : 103 Question Id : 36496352773 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which line shows the dilemma faced by Raghu?

1) Line 2
2) Line 4
3) Line 6
4) Line 8

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 36496352774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the rhyme in 1% stanza?

1) abab
2) abed
3) acbd
4) abcc

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 36496352775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
In ‘flabbergasted papa’ flabbergasted is used as a/an
1) verb
2) adverb

3) adjective
4) noun



Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 3649633049

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 36496352776 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is defined as regional dialect?

1) Speech characteristics of a language in a region.
2) Language of a state or country.

3) Language with a script of a region.

4) The written language and literature of a region.

Options:
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 36496352776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is defined as regional dialect?

1) Speech characteristics of a language in a region.
2) Language of a state or country.

3) Language with a script of a region.

4) The written language and literature of a region.

Options :



1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 36496352777 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true of Sign Language?

1) Sign Language does not have a grammar.

2) Sign Language has a grammar.

3) Sign Language is set of gestures.

4) Only one Sign language used across the world.

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 36496352777 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true of Sign I anguage?

1) Sign Language does not have a grammar.

2) Sign Language has a grammar.

3) Sign Language is set of gestures.

4) Only one Sign language used across the world.

Options :
1.1
2.2
3.3
4.4



Question Number : 108 Question Id : 36496352778 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Language learning is

1. natural and subconscious

1

deliberate and conscious

both natural and deliberate

Lad

4. innate and involuntary
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 36496352778 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Language learning is

1. natural and subconscious

)

deliberate and conscious

both natural and deliberate

LS

4. innate and involuntary
Options:
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 36496352779 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

What does it mean to use ‘multilingualism as a strategy’ in the classroom?
1. Using the common language of learners for translating the content in an English medium classroom.
2. Making use of the languages of learners to teach-learn languages and content subjects.
3. Not letting the learners to use their languages except the medium of instruction in the classroom.
4. Learning of many languages in school to become multilingual speaker.

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 36496352779 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does it mean to use ‘multilingualism as a strategy’ in the classroom?

. Using the common language of learners for translating the content in an English medium classroom.
. Making use of the languages of learners to teach-learn languages and content subjects.

. Not letting the learners to use their languages except the medium of instruction in the classroom.

. Learning of many languages in school to become multilingual speaker.

B o

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 36496352780 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true of Hindi language in India?
1. It is the national language of India
2. It is the common second language in education
3. It is the associate official language of India
4. It is the official language of India.

Options :



1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 36496352780 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true of Hindi language in India?
1. It is the national language of India

It is the common second language in education

It is the associate official language of India

It 1s the official language of India.

w1

.

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 36496352781 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following you would not accept as authentic materials?
1. A cartoon from a magazine.
2. An advertisement in a newspaper.
3. An essay on the COVID 19 written by textbook writer.
4. A short story by the well-known writer Premchand.

Options :
1.1
2.2
3.3
4.4



Question Number : 111 Question Id : 36496352781 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following vou would not accept as authentic materials?
1. A cartoon from a magazine.

An advertisement in a newspaper.

An essay on the COVID 19 written by textbook writer.

A short story by the well-known writer Premchand.

w1

>

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 36496352782 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Atteacher asks her learners of class VIII as a follow up task of the reading lesson to list the events and ideas of the story
in a sequence. What does she do?

. Asking her students to create a sub-text.

2. Asking her students to read the story again.

3. Reinforcing their writing skills.

4. Promoting their skill to recall

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 36496352782 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ateacher asks her learners of class VIII as a follow up task of the reading lesson to list the events and ideas of the story
in a sequence. What does she do?

. Asking her students to create a sub-text,

2. Asking her students to read the story again.

3. Reinforcing their writing skills.

4. Promoting their skill to recall

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 36496352783 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is NOT true teaching of literary texts in language classroom?
1. Literary texts should be used to teach grammar.
2. Literary texts are for appreciation, pleasure and enjoyment.
3. Literary texts are inputs for language learning.
4, Literary texts develop critical thinking

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 36496352783 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is NOT true teaching of literary texts in language classroom?
. Literary texts should be used to teach grammar.

2. Literary texts are for appreciation, pleasure and enjoyment.

3. Literary texts are inputs for language learning.

4. Literary texts develop critical thinking

—

Options :



1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 36496352784 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ravin reads an article from a newspaper 5o as to present the overall idea of the text to his group the next day. What is
his reading known as?

L. Reading between the lines

2. Reading beyond the lines.

3. Scanning

4. Skimming

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 36496352784 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ravin reads an article from a newspaper so as to present the overall idea of the text to his group the next day. What is
his reading known as?

. Reading between the lines

2. Reading beyond the lines.

3. Scanning

4. Skimming

Options :
1.1
2.2
3.3
4.4



Question Number : 115 Question Id : 36496352785 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Words one recognizes while reading but is not able to use on her own. What is this vocabulary known as?
1. Active vocabulary
2. Passive vocabulary
3. Listening vocabulary
4. Reading vocabulary

Options:
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 36496352785 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Words one recognizes while reading but is not able to use on her own. What is this vocabulary known as?
1. Active vocabulary
2. Passive vocabulary
3. Listening vocabulary
4. Reading vocabulary

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496352786 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Basic Interpersonal Communication skills are
1. using language for here-and-now and on familiar topics
using language for higher order thinking
using language to convey abstract ideas and concepts
4. using language for reporting scientific research on a topic

w1

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496352786 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Basic Interpersonal Communication skills are
1. using language for here-and-now and on familiar topics
using language for higher order thinking
using language to convey abstract ideas and concepts
4. using language for reporting scientific research on a topic

w1

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 36496352787 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which approach to writing gives scope for learners to undergo different stage of writing in order to learn to write?
. Product Approach

. Process Approach

. Communicative Approach

. Lexical Approach

[em—
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Options :

1.1



2.2
3.3

4.4

Question Number : 117 Question Id : 36496352787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which approach to writing gives scope for learners to undergo different stage of writing in order to learn to write?
1. Product Approach
2. Process Approach
3. Communicative Approach
4. Lexical Approach

Options:
1.1
2.2
3.3

4.4

Question Number : 118 Question Id : 36496352788 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Al Rall, a teacher in his grammar class introduces rules of the grammar item, voice and tenses first and makes them
understand how the form behaves and how to use it contexts. He then gives lots of tasks for learners to practice the
language item. What is this process of teaching-learning grammar known as?

1. Content knowledge

2. Procedural knowledge

3. Process knowledge

4. Declarative knowledge

Options :
1.1
2.2
3.3

4.4



Question Number : 118 Question Id : 36496352788 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Al Rall, a teacher in his grammar class introduces rules of the grammar item, voice and tenses first and makes them
understand how the form behaves and how to use it contexts. He then gives lots of tasks for learners to practice the
language item. What is this process of teaching-learning grammar known as?

L. Content knowledge

2. Procedural knowledge

3. Process knowledge

4. Declarative knowledge

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 36496352789 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an input based task for language learning?
1. Learner read a story in groups of five.
Learners write a dialogue for skit to be enacted in an event.
Learners enact a role play on the issue of climate change.
L earners asks questions to understand the ideas of the talk they listened to.

v 1

b

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 36496352789 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is an input based task for language learning?
1. Learner read a story in groups of five.
2. Learners write a dialogue for skit to be enacted in an event.
3. Learners enact a role play on the issue of climate change.
4. Learners asks questions to understand the ideas of the talk they listened to.

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 36496352790 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a concept from language education?
1. grammar translation method
2. wavelength of sound
3. first language interference
4. error correction

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 36496352790 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a concept from language education?
1. grammar translation method
2. wavelength of sound
3. first language interference
4. error correction

Options :

1.1



2.2

3.3
4.4

Language II
SectionId: 3649631680
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 3649633050
Question Shuffling Allowed : Yes

Question Id : 36496352791 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension



T 70 oY it AT UG FUT U T W4T % IR F o0 T
EERAE T::ichwmtmﬂ ﬁﬁm

Wﬁwamm $ AT o T S8 AT AR =S T 2
ﬂummsﬁrwmmﬁwaﬁﬁﬁaaﬂtm?mm?wwm
aﬁaﬁamnﬁ%@éﬁmmaﬁéﬁﬁ%@ﬁ%ﬁ%sﬁma
HTLOT SERT J& T T3h Gﬁt@lﬁm%l

T a7 T 1 T FAR S TS ST & AT ST AT el 6 FAA
36 T W T T 5 ORI 3 TS 3 (R W [T 3 €| W A A
Wﬁﬁaﬁwmélﬁwamﬁmﬁdﬂwmw
STHIA 31 AT ST |1 ST 7| Toh ST S=fierad % R 7E Tt

o 7

T 7 3T TSIt 2 T Hxﬂﬁﬂﬂi‘%?ﬁﬂ?{aﬁﬁﬁﬁﬁﬁgﬁﬂ
T TSIGA1 % J&T i ST HETH S1% | F6] [1TaT 379 Al 5
et ST 2| 0 AT 6 el 8T I @ AN FO FeHA Uie 01 %
e 2

Sub questions

Question Number : 121 Question Id : 36496352792 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
AT 7 I ToFoF T BT 27

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 36496352793 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
AT % o= Y faereaT 78 3
|. AITEMT

-

3. Hsted &T
4. o= Em
Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 36496352794 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
e 1 U 99 247 219 U | 36t 92 e =it

3. 9E g war B 8
Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 36496352795 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 125 Question Id : 36496352796 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 36496352797 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 36496352798 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 36496352799 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

I3

1.1
2.2
3.3

4.4

Question Id : 36496352791 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No

Question Numbers : (121 to 128)

Question Label : Comprehension

o 70 Tt 1 SATUE UTeT, U1 U9 0 W4T % I & o7, wad
IUTH e T = )
Wwawmwa&ﬁéﬁwmﬁmwm%l

AT 3T a1 mmﬁwaﬁﬁﬁa&ﬁtW?m?m?wwm
Ao 7 S AT F T 7 e S e B 7
0T 3HRT J&1 U1 U Sﬁtﬂfﬁrl‘f_ﬁ%‘l

T T T T A0 FSR AR TS ST & 7T S AT el 6 HAA
36 7 OT T T E0 U1 o S3a1 o T |1 [2@Ts o o 39 a4 |
SEA AT TS0 21T 8| O Tall o Sien = Ao 1 I I

ST 1 AT TAT | AT 2| T ST0 S0 % FRO I FAT
e =]

T T ST TSt §| F© SSaal & 99 957 o aid & adl
FD ST o F&T S TGS TeTT SITE 3| TET [Tera 579 Fert |
Tt ST 2| 0 AT F B 80T F B © AN FO FHA Ue 71 %

B 2

Sub questions




Question Number : 121 Question Id : 36496352792 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T = o1 foFerer war B 22
|. g9ER
2. dig

3. AR
4. G
Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 36496352793 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
AT % 7 T TIeAT T2 2
I. HITEMT

-

3 HsTeld Tl
4. fomrEmT
Options:
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 36496352794 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 36496352795 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 36496352796 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 36496352797 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
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Question Number : 127 Question Id : 36496352798 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 36496352799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 3649633051

Question Shuffling Allowed : Yes

Question Id : 36496352800 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (129 to 135)



Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 36496352801 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1. wT§T
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Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 36496352802 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 36496352803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
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4.4

Question Number : 132 Question Id : 36496352804 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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2.2
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Question Number : 133 Question Id : 36496352805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 36496352806 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
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3.3
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Question Number : 135 Question Id : 36496352807 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Id : 36496352800 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 36496352801 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 36496352802 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 131 Question Id : 36496352803 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 132 Question Id : 36496352804 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 133 Question Id : 36496352805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 36496352806 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 135 Question Id : 36496352807 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 3649633052

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 36496352808 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
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Question Number : 136 Question Id : 36496352808 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 36496352809 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 137 Question Id : 36496352809 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Haha WTST 39T 27
|. SATFIOT 3 WY TS LTI ST 2

_ TITHTEF WIST AR 2

[

o [
. AT o T8 Uk S=THTES ST 2

3
4. SR FYEE F &0 713919 T 7

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 36496352810 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 138 Question Id : 36496352810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 139 Question Id : 36496352811 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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S 1 T SR ST 21 8 e 3 o e v €

|, ST T
. IOV 7 B A AT

Options:

| ]

1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 36496352811 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T G U T TV ST T 5 S0 T € 741 3% Tt T 9 9 90 AT 9 WO
S 1 ST S S 21 8 T 3 o v
|, ST T e
T AT 5 R e

Options :

| ]

1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 36496352812 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘YT o TS Her=ar #7179 2
1. TaTeres Tereatei= o w9 19 & 2
. Tereqreff 22wt = form o 9 5 = 2
. Toreqreff ot fTess Toeta ==ioT & BT W 19 &1 2
4. Tarsareff 9TaT % = HEET 5 ST A © 99T #REd T

[

LIS

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 36496352812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
“THT o Y FA=AT T 37 2
. Tererer faremtaat = a9 9 od 2
. Toremeff w2va % fo0 WSt § 1 A 2
. Toreqreff ot fTess Toeta ==ioT & BT W 19 &1 2
4. Tarsareff 9TaT % = HEET 5 ST A © 99T #REd T

[

LIS

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 36496352813 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



et 7 < 5 form T i S e ¥
1. TTHioTER
2. AIEFE
3. FIIAT 3 IR IS FAT

Options :

1.1

2.2

3.3

4.4

Question Number : 141 Question Id : 36496352813 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

PJTF«:HFW“?%’M% %t.{ﬂTﬂTw‘lH%@gﬁlt AT 2
1. SITETIOTe T
2. AIE FE
3. THIaT o AT T 1S FHEAT
Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 36496352814 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



o T v 3t e e T a3 oy v e 1 T Y
|, T gE § U
2. Fe7 3 ferm T
3, e % o v
4. SR H U
Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 36496352814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
o T v 3t e e T a3 oy v e 1 T Y
|, T gE § U
2. Fe7 3 ferm T
3, e % o v
4. ST E T
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 36496352815 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



I R e AT A TR I T A R T d
1. Tofesra ree WER
2. TFNT T IeE HER
3, HiT 3168 HER
4. F2941 o o0 vTeg ¥eR

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 36496352815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T vres f52 en SR U A=A M A B, T Z
1. TAfsrT weg der
2. T T 9167 WER
3. Hiha 9168 ¥R
4. =91 % 10 3168 ¥Er

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 36496352816 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FIATeEa o .91 T B9 W 707 W1 HUUaT i 3amat & # form 27

|, ToRelt o ST O 1o o oid o forelt Tar o 10 2t o
F & ST W EEELR uitEe F1 THTE TavT @ geEn % o w o
. T % YT T TR SRS U H T U I W Se At & W &

3
4, Torelt e o ToT T SATST 30 o oA, TR e 61 Sroi il bl gl

-2

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 36496352816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
FIATeaa o  9-91 T B9 W 31707 ST (HUUaT 1 Sarat & # fof0 27
1. Toeft o FeRTeR W o7 % 19 § ot U % T ST o
T % e | EEELR) Uiae &1 THE 1999 W TR U3 & o0 =g fora
3. T % IR F e e ek o TR e o A W HEiaat % W 6
4. Topelt e % Tom T it e % o, v o e e 0

Options :

-2

1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 36496352817 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T TETeToraT 370, T e W 3 1o B 3 T ST SAE A o 20
1. T S ATt 1 FaT 3 ST WTeOT T 3 e (7@ 7 & &

. T3 ST, S 19T 36 V0T 3 oA et G 3ee F wU A 7

. ITET ST TS o 3 A ST 9T 7 GO Al 2, S 3 g

™\

3
4. I3 SR, ST TG e T 3 T, (VAT 1 et St & T 2 A7 T €

-

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 36496352817 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T e 270, ST S S % o7 B & T3 ST 6 SATE 4 e 2
1. YT ST TRTeTTaT 1 T T 2 AT WTAOT 3T 261 A1 o o AT & &
. T3 T TG ST & WA % oI U a3 F R A 2
3. TIT3RAT SUTTH TSTTTTeRT 3 3 W ST RS T G e 2, e S o
4. 3T ST 71 G Taher T 5 T, T 1 e ) e 97 G 2

Options :

]

1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 36496352818 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Treferitas & | e -7 STST S % 1o e e w5 20
1. Terameff T 9eat T SHET uga
: %Tamﬁw{ c‘:l'@?% T{dt.{ f&qlt t{m&ﬁ m@gﬁ%u_mﬁmﬁﬁﬁ?%
N ~ £ N g
3. Toreameff =31 1 FqeI=aT § UTEAT FT S0 O o o0 e AT B
4. Toreqmeff Uera SUTTS 79T 3 99T UF % o e g oraar 2

-3

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 36496352818 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
=t o o F9-a7 yr e & o0 oo smfe e 2
1. Terameff T 9eat T SHET uga
: ﬁ?TaJTEﬁ 31?_553-:\ c‘:l'@?% T{dt.{ f&qlt t{m&ﬁ m@gﬁ%u_mﬁmﬁﬁﬁ?%
n\;‘\' = | R r\-m
3. Toreameff =31 1 FqeI=aT § UTEAT FT S0 O o o0 e AT B
4. ﬁT&mﬁ H@nar 2UTTH auﬂlﬁwmuﬁ% ﬁdt.{nm '!?_:‘E{Q %@?ﬁ%

-3

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 36496352819 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T=forfes o & Fie-a1 s urs e F gy I Tea B

1. %Wﬁfq’aﬂiﬁﬁmﬁmtruma qMWerww
wmmﬂm%mﬁmaﬁmwmwwmw
3. mmmmm%@ﬁﬁ%vwwmm
4. U AT 1 A e i e g # s

!d

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 36496352819 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fraforfias O © S I-97 SIS UTS fS7eqor 3 gae o g 20
| %W%Eﬁ%@id%@uﬁulw GIMEHHJF[ R
e3 s i - i ) ey -,
A= T o S TRTATTET 3 ST, HTHT 3 IETEX0T 6T T A1
3. STeaT FUT GL=TT 1 fe@T o Tofu f=rar =Rt S AT
4. nﬁmwmmm%w%ﬁmmm%

[

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 36496352820 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



frafefEs & o F-97 9T o e ¥ e T 22
| T ST A w2
2. HTET % foqu 910 v T8 8
3. e A9 3T TR EET 8

4. TS T ®Y ¥ HiEE 2

Options :

1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 36496352820 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
i s T F s T s T
2. uTeT % forr &0 sTavam 7E B
3. Teeh WIT o1 AT BT 2

4. ST YT ®Y F HiEE 2

Options :

1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 36496352821 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



WO G 71 0 T % WG] 3 1 T 9 T F AR W Y O A A FEHA
Sk
3, SR AT F

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 36496352821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TS ST 4 7 TV WTaee] & 9 T 96 Yo% A% T Y O [T Ol & AU R o
Sl
). TS
3. T e

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 36496352822 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



fr=fefgs o @ S ey % =0 e w20
|. TR 7 99T To T e

. WTATIES: T4T TR Treor

3. TENTeHS/ T U

4. Y 2TF T TR W07

Options :

I3

1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 36496352822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Ffefes o o #0991 Fes F = oI w6 27
|. YRS FE 997 T2
. WTHTTESR F4T AT T
3. TENTeHS FATT U
4. 99 % AT T TS WA

Options :

[

1.1
2.2
3.3
4.4



